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Topic:- Child Development & Pedagogy (CDP)

1) In what part of memory does chunking occur? / Wﬁf & forg %’\Rﬁ H fb (4usH)
g1 8?2

1. Short term memory / @-ﬁ?ﬂ:{ Fﬂﬁf

2. Long term memory / Ere-prolle Pil:ﬁ'

3. Sensory register / Haer aeex

4. Working memory / Telel Hil'ﬁ' (afcher AARY)

Correct Answer :-

« Short term memory / TY-bIa THfd

2) An anxiety disorder is characterized by :/ T R&ar Q&R $r QAdwar &

1. An excessive or aroused state characterized by feelings of apprehension, uncertainty, and fear. / U

Jrafie a1 Iaford fRufa St fos smeieeT, 3fAfEadr 3R YT ot yigmsi @ fadivar g1
2. Disordered thinking / ﬁﬂ‘v_d =

3. An emotional condition classified by excessive checking/ IATH S CEIRY ddﬁegjd Uch
HIIATcHs el

4. An emotional state identified by panic attacks / dfas 31¢eh ST dolg & Teh HGATcHS
L3211

Correct Answer :-

« An excessive or aroused state characterized by feelings of apprehension, uncertainty, and fear. / Uch

SIfH T Iaford FRufa S 5 3meieT, IRfEdar sik g ot yiael & fo=ivar g1

3) A devoted teacher would adopt to arouse interest of the learners. / Uh gHfta

Rrere &1 Rrend &1 =fr srm= & forg &1 YT R

1. Demonstrative methods / qa"%i?-l' fafer



2. Innovative methods / AaRT Tafer
3. Easy methods / 3THTeT fafer

4. Direct methods / 9caeT fafer

Correct Answer :-

« Innovative methods / Tararr fafer

4) variations in social values can be attributed to: / JTHTOI® H\Eﬁ' ¥ ggdrd &I 3'\"4%‘7 fere
SR g &1 Wl o

1. Reducing inequality / 3HHTAAT T hH FHIAT
2. Social change / TTHATTTH gRadeT
3. Social mobility / ETATISH ITTaferar

4, Transmission of culture / +i+q3|'<‘1 T IO

Correct Answer :-

« Social change / ATATISI IRATA

5) According to the view of , @ schema includes both a category of knowledge

and the process of obtaining that knowledge. / _ & Ef@?ﬁ'UT & SR, Uh
T § JH &1 T AT 3R IH T B U B Dt Uishar g1 ird g

1. Jean Piaget /\_rﬂ:f BRI
2. Erik Erikson  / Q|§$ s“ﬁwq

3. Jerome Bruner / ST g?IT

4. Sigmund Freud / F87#3 WIS

Correct Answer :-

« Jean Piaget /\_rﬂ:fﬁl?:ﬂ@f

6) Teachers have to deal with of learners. / ﬁT&ﬁﬁ' 3| ﬁT&IT Af &t & 91y
S BT USdT 81

1. Inclusivity / FATAREr
2. Diversity / Tafaerar

3. Diverge / TadeleT

4. Giftedness / ITHTrCI



Correct Answer :-

o Diversity / Tafaerar

7) Teaching Pedagogy Influences the performance of children as it enables the child ./

?&mwaﬁ%uuﬁaﬁmnﬁam%ﬁ%waﬁﬁ_ H H&rH I491dT
|

1. to practice similar things again and again / JHIH ISl BT IR-TR AT B
2. to be more disciplined / 3w 3171’521@?[ él:ll

3. to do more class work and home work / 3T & By (CHIN dccb) 3R %—W (E?I'q 3747)
PAT

4. to listen and engage in learning / Siferm | A1 3R T LRl

Correct Answer :-

« to listen and engage in learning / SfRTH # gl 3R el

8) John uses clinical interviews in his class to know the problems of students. This shows his

role as a . / ST 379aY F&TT H BE) Y AHE3T F) AT & AT Aifas FnanedR F1
YA FIATE | TE 3aTehy S{fA=T 1 T H g gl

1. Co-learner / Tg-fremmat
2. Negotiator / CIGIEAES
3. Classroom researcher / T 3V

4. Facilitator / 9TreTeh

Correct Answer :-

e Classroom researcher/%&:lT}]ﬁW

9) Who proposed language and thought to be independent? / fraa y&arfad forar & smem
IR AR Faaa g &2

1. Vygotsky / ArsacdenT
2. Piaget / OISt

3. Kohler / hIgeR

4. Chomsky / ATHET

Correct Answer :-



« Chomsky / TTHEHT
10) Assessment for learning involves / 3TT8I3TH & 3fTheleT # eMfAT &

1. sharing exemplars at different levels of success according to certain criteria /iw_u’?:llo'-la‘g'l &

3TAR BT o AT TR U 3TE0M hl ATSHT AT

2. providing grades or marks against students work / ST31 o &IH o TG IS IT 37 UGl
CRGI

3. summative use of formative assessment / WWWWW
4. use of tests and exams / Q87T 3R 9dTeTT &1 3uATeT

Correct Answer :-

» sharing exemplars at different levels of success according to certain criteria /io_a’?:llﬂa‘?fl &
3TAR HBll o AT T X 3T hT HISAT ]

11) Which of the following is not a teaching skill in inclusive education? / fAFfaf@a &
¥ Fla gaTaeh Raw 7 v RAavor Fherer a§ 2

1. Blackboard /@W@c
2. Questioning / Y&dTS

3. Problem solving / HHEIT HTTT

4. Reinforcing / <& T Yl

Correct Answer :-

« Blackboard | SAihalS

12) When children learn to be aggressive because of exposure to violence in media, what type of
learning is being displayed? / ST§ s=ar #Hifsar H 9T & 9uF & HA F HROT ATHIAD
gar dwd @Y P yeR #1 aftes veiRia ar ¥

1. Classical learning / SFelliiehel 3TTEITH

2. Media learning / AT e

3. Exploratory learning / 3{ea2fY 37feerer

4. Observational learning / TdRINUTTcAS® 3O

Correct Answer :-

« Observational learning / TdeIYUTIcH® 3if&RTHT



13) Intelligence quotient is / ﬂ'&ﬁl’ afewr &

1. Chronological age/mental age x 100 / 2RI 3 | AARAS 3 x 100
2. Chronological age x 100/ Mental age / 2TRIR 3 x 100 / ATATAS Ig
3. Mental age x 100/ Chronological age / AATASR 31T x 100 | IRE I

4, Mental age/ Chronological age x 100/ HTeTT&h g / IR 3T x 100

Correct Answer :-

« Mental age/ Chronological age x 100 / HTHeh g / AR 3 x 100

14) Learning happens when the child observes someone. This learning is known as ./

I a9 T § o9 a=ar R F e ¥ q@ar ¢ 39 AIH ¥ ™
H ST ST

1. Operant conditioning / m@ W
2. Trial and error learning / Wc_o-l'-_i[ﬁ' 37T
3. Social learning / AT 39T

4. Insight learning / 3idsise Jfeera

Correct Answer :-

« Social learning / GTHToTeh 3TTEITH

15) Learners who have an earnest desire for academic competence are said to have a: / frameft S

A&+ Aegar ¢ Fa@ HWF o1 WA ¥, 3¢ FeT A &
1. Performance avoidance orientation/ 9621 IRER BF{L@WUT
2. Performance approach orientation/ gl giSeapror ED@WT
3. Work avoidance orientation/ T IRER BFJEI:@WUT

4. Mastery orientation/ HgIRd E)@WUT

Correct Answer :-

* Mastery orientation/ HERd 3¢ GTehoT

16) Several abilities put together is known as Wk 33 STHTHT T TS HIY I@T AT
HEATdT Bl

1. Intelligence / ﬂ’a\:@'



2. Interests / wRT
3. Attitude / HAIG T
4. Personality / ITFded

Correct Answer :-

 Intelligence / gaﬁ

17) How many sub-stages are there in the sensorimotor stage of cognitive development?/

FAETcAS fae & FadAe @or # Fas 39-Tvor g 2
1. Seven / "I

2. Five / 9T

3. Six / &

4. Eight / 3TT&

Correct Answer :-

18) Which of the following is not a likely characteristic of a child whose parents are authoritarian?

| PFafafld # ¥ FiF e T3 Y Rasrorar a8 §, owd Aa-Rar sfaasad
(3rameRaa) &2

1. Unfriendly / K IEE]

2. Unsociable / TSI
3. Independent / Tadq

4. Withdrawn / 3'133:-1@'
Correct Answer :-

» Independent / Tadq

19) Out-of-school programs allow middle school children to explore safe opportunities to form long-

lasting relationships with adults outside their families through . ﬁayﬁm FRIFHA & 915
Areafas Regey & st # ¥ ATEIH F 39 IRART F IEY TIEH F qIY

WY AT TF g ae Red g & T @A saest A segaAfy gar ¥

1. pleasure and happiness / 3TeIg 3R Ci[?ﬁ'

2. hardship and responsibility / m IR SFAeny

3. reading and writing for academic excellence / 3ThIG Heh 3cpscdr & forw gear 3k forger



4. independence, peer relationships, and leadership / TaAAdT, ehaT oY 3R ﬁ?{[ﬁ'

Correct Answer :-

 independence, peer relationships, and leadership / W?IT, H?W:ﬁ' gaer 3R ﬁ?(l‘ﬁl'

20) John is a student who is naturally aware of his personal emotions, feelings and motivation.
According to Howard Gardner’s Theory of Multiple Intelligences, which of the following intelligence

does he demonstrate?/ SieT Th B g AT YT IfFdIra ﬂﬁﬂﬁﬁ,m IR o ¥
FAIfa® TF ¥ 3G9Td &1 g1aS MEAT AT SANY TP AdIud sefaad (THIfw AT
¥ RqHia) & 3AR, 37 e & ¥ e geftemar & weitia #war &

1. Interpersonal intelligence/ 3o CRIERED g@w
2. Intrapersonal intelligence/ RRCRIERED mw
3. Visual-Spatial intelligence/ 2T-TUTfeAh ﬂ?{fﬁw

4. Naturalistic intelligence/ TaTHTTAH ga{@ﬂm

Correct Answer :-

« Intrapersonal intelligence/ K RICRIERED m

21) Nature of children is: / g&d &Y 971'7% gt &
1. Destructive / E’IW

2. Imitative / %ﬁﬂ'

3. Imaginative / FeTeITeiTel

4, Constructive / {deTcHh

Correct Answer :-

e Constructive / {ddlcHD

22) What is the purpose of learning according to Humanism? / ATdqdrdG & HJHR rfeere

T 3642 F4T §?
1. To ace the standardised tests / II'I:IEEQ'W UQQI&I'Uﬁ G UPheY (Uddh) B B 1%1?
2. To fulfil one’s potential / TRET T &THAT I FRU F & v

3. To become employable/{\lddlliw\ch g & forw

4. To achieve financial security / fadr &t Hred F & foru

Correct Answer :-



« To fulfil one’s potential / TRET I &THAT I FRU T & fow

23) What is the name of the disorder characterized by an inability to carry out basic mathematical

operations?/mmmﬁﬁmﬁmmmmmmﬂ
AH F4T §?

1. Dyslexia / feEeiferaar

2. Dysmorphia / ferAifthar

3. Dysgraphia / TSGITTH3TT

4. Dyscalculia / WHT

Correct Answer :-

« Dyscalculia / SEherg I3

24) What animal was used by Thorndike in his experiment relating to operant conditioning? /
IS GERT BRI Ifaus § |afd gaer & fry SIeraT &1 w2 R arn
qnr?

1. Rat / ﬂ"\@T

2. Dog / bl
3. Cat / Teieell
4. Pigeon / Sl

Correct Answer :-

. Cat / TSeol

25) What type of learning did E.L. Thorndike propose? / §. Td. UleAss® o fFH YHR &
I F7 yFaE W@

1. Operant conditioning / TRATIHA eJatral (31T hererfatar)
2. Vicarious conditioning / UfafeTeieh 3-]'0_:[3?1';1' (aTsé%ﬁ'm? WS‘TQIT?I?T)

3. Classical conditioning / QTEIRT 3103&‘5401 (FeITTaehel Sharerfaian)

4, Effect conditioning / YHTT 31016i24d (3thare harerfam)

Correct Answer :-

« Operant conditioning / ﬁo‘zrrqa\?r 3-]?33?13' (3T HIreIfaa)



26) In language development, the structural organization of a sentence is known as ./ HTST &

R 7, 0F I F TEAICHS FIdd B & T H AT AT ¢l
1. Phoneme / &afaieT (Praitea)

2. Syntax / AT Ta=ard (FHeed)

3. Pragmatics / JZATcH (JIATEH)

4. Morpheme / SO (AT Ttha)

Correct Answer :-

« Syntax / ArFATdeard (FHeF)

27) Identity versus Role Confusion happens between the ages of / 9T
AT HfAFT A 3 F AT gt B

1. Zero to three / X T <
2. Three to six / diel & B8

3. Six to eleven / B¢ & TIANE
4. Twelve to twenty / g T

Correct Answer :-

. Twelve to twenty / SRg @&

28) Any change that happens due to is considered as learning. /
¥ FROT @ T R oft afadsr F e A@@T STar
1. Injury / B[
2. Fatigue / dhlel
3. Maturation / IRIeFadT

4. Practice / IFITH

Correct Answer :-

e Practice / JAFITH

29) Which of the following is a cue for a teacher to understand the aptitude of the child towards

learning?/mﬁﬁ#ﬂ@ﬁm*mmﬁmﬁﬁmﬁ
A & 0F Thd g7



1. Students answering questions in class./ 1A D&l o UY BT IR % Q% %I

2. Student’s assessment records showing the amount of learning achieved. / T3 3{Thdd Rls 39

GRT T T HAT &I &-id 5
3. Student giving innovative presentation of their work./ &I 379 FrA Hr AT mﬁf o gl

4. Students doing their homework regularly. / ST GRIGGESIIEG W T @ g

Correct Answer :-

» Student giving innovative presentation of their work./ &I 39 FA Hr AT m—gﬁr o gl

30) Which of the following theorists of child development is not allied to the stimulus response

learning theowlmma?mﬁﬁﬁqwm, IS
wfaferar iRy Ry | Tas -1e1 8

1. Pavilov/ 9rdelid

2. . B.waston / S1.&T. drdce]
3. Gesell / 3r8rel

4. Hull / gef

Correct Answer :-

. Gesell / aIT

Topic:- General English(L1GE)

1) Read the passage carefully and answer the question given below:

The dismantling of the border fence separating Gaza from Egypt's Sinai Peninsula by Hamas promises to
energize the Palestinian movement against Israeli occupation. Nearly 350,000 hungry and sleep-deprived
Palestinians poured into Egypt on the morning of January 23, once the Hamas cadres breached the border
wall using explosives. Taken aback at the outpouring of humanity from Gaza, Egyptian border guards decided
not to resist the massive cross-border infringement. As parts of the three-km metal and concrete barrier began
to give way, a bulldozer was pressed into service to widen the gap. Soon, cars and heavier vehicles freely moved
towards the Egyptian towns of Rafah and Al Areesh to bring home much-needed essential supplies. The
border was closed after 11 days following talks between Egyptian officials and Hamas leaders.

Embarking on the bold and finely calibrated initiative on January 23, Hamas nullified the Israeli bid to cut off
essential supplies to Gaza by besieging the coastal strip from all sides. It resorted to the move after the
implications of the Israeli siege began to sink in. By nightfall on January 20, there was darkness in Gaza after
Israel stopped fuel supplies for the two turbines at the main power station in the coastal strip.

Looking at it at a macro level, what does the dismantling of the border fence mean to the Palestinians?



1. Getting food and essential supplies for the people for a short period.
2. It adds strength to the Palestinians movement against occupation by the Jewish nation.
3. The ability to drive their vehicles to any place they felt.

4., A sense of freedom.

Correct Answer :-

¢ It adds strength to the Palestinians movement against occupation by the Jewish nation.

2) Read the passage carefully and answer the question given below:

The dismantling of the border fence separating Gaza from Egypt's Sinai Peninsula by Hamas promises to
energize the Palestinian movement against Israeli occupation. Nearly 350,000 hungry and sleep-deprived
Palestinians poured into Egypt on the morning of January 23, once the Hamas cadres breached the border
wall using explosives. Taken aback at the outpouring of humanity from Gaza, Egyptian border guards decided
not to resist the massive cross-border infringement. As parts of the three-km metal and concrete barrier began
to give way, a bulldozer was pressed into service to widen the gap. Soon, cars and heavier vehicles freely moved
towards the Egyptian towns of Rafah and Al Areesh to bring home much-needed essential supplies. The
border was closed after 11 days following talks between Egyptian officials and Hamas leaders.

Embarking on the bold and finely calibrated initiative on January 23, Hamas nullified the Israeli bid to cut off
essential supplies to Gaza by besieging the coastal strip from all sides. It resorted to the move after the
implications of the Israeli siege began to sink in. By nightfall on January 20, there was darkness in Gaza after
Israel stopped fuel supplies for the two turbines at the main power station in the coastal strip.

Who was instrumental in the break out at Rafah and Al Areesh?
1. Egyptians

2. The people themselves

3. Hamas

4, Israelis

Correct Answer :-

e Hamas

3) Read the passage carefully and answer the question given below:

The dismantling of the border fence separating Gaza from Egypt's Sinai Peninsula by Hamas promises to
energize the Palestinian movement against Israeli occupation. Nearly 350,000 hungry and sleep-deprived
Palestinians poured into Egypt on the morning of January 23, once the Hamas cadres breached the border
wall using explosives. Taken aback at the outpouring of humanity from Gaza, Egyptian border guards decided
not to resist the massive cross-border infringement. As parts of the three-km metal and concrete barrier began
to give way, a bulldozer was pressed into service to widen the gap. Soon, cars and heavier vehicles freely moved
towards the Egyptian towns of Rafah and Al Areesh to bring home much-needed essential supplies. The
border was closed after 11 days following talks between Egyptian officials and Hamas leaders.



Embarking on the bold and finely calibrated initiative on January 23, Hamas nullified the Israeli bid to cut off
essential supplies to Gaza by besieging the coastal strip from all sides. It resorted to the move after the
implications of the Israeli siege began to sink in. By nightfall on January 20, there was darkness in Gaza after
Israel stopped fuel supplies for the two turbines at the main power station in the coastal strip.

What is the main idea of the passage?

1. The might of Hamas

2. The hospitality of Egypt towards the Israelis
3. Arab Israeli conflict

4. The bursting of the Gaza siege

Correct Answer :-

¢ The bursting of the Gaza siege

4) Read the passage carefully and answer the question given below:

The dismantling of the border fence separating Gaza from Egypt's Sinai Peninsula by Hamas promises to
energize the Palestinian movement against Israeli occupation. Nearly 350,000 hungry and sleep-deprived
Palestinians poured into Egypt on the morning of January 23, once the Hamas cadres breached the border
wall using explosives. Taken aback at the outpouring of humanity from Gaza, Egyptian border guards decided
not to resist the massive cross-border infringement. As parts of the three-km metal and concrete barrier began
to give way, a bulldozer was pressed into service to widen the gap. Soon, cars and heavier vehicles freely moved
towards the Egyptian towns of Rafah and Al Areesh to bring home much-needed essential supplies. The
border was closed after 11 days following talks between Egyptian officials and Hamas leaders.

Embarking on the bold and finely calibrated initiative on January 23, Hamas nullified the Israeli bid to cut off
essential supplies to Gaza by besieging the coastal strip from all sides. It resorted to the move after the
implications of the Israeli siege began to sink in. By nightfall on January 20, there was darkness in Gaza after
Israel stopped fuel supplies for the two turbines at the main power station in the coastal strip.

In the passage, the phrase to give way means:
1. to be mended immediately

2. to collapse or fall apart

3. to be dislodged

4. to allow something to happen

Correct Answer :-

¢ to collapse or fall apart

5) Read the passage carefully and answer the question given below:



Sustained accelerated growth over the last five years or so, combined with major tax reforms, has resulted in a
miraculous augmentation of government revenues. Buoyant revenues have resulted in buoyant spending on the
social sector. In his address to the National Convention, the Prime Minister estimated the increased spending
on poverty alleviation and rural development, including the flagship Bharat Nirman programmes, at “four
times” the spending in the last year of the previous government: an exponential increase in nominal terms
from around Rs.34,000 crore in fiscal 2003-04 to about Rs.1,20,000 crore in the current financial year, over and
above the four-fold increase over the decade 1993-94 and 2003-04 from about Rs.7,600 crore to about
Rs.34,000 crore.

Why, then, is there such a mismatch between outlays and outcomes, between growth in the booming wealth
and income of the entrepreneurial classes in contrast to the halting, uncertain, sporadic and un-sustained
amelioration in the condition of the vast majority of Indians? Why is India prospering when most Indians are

not?

How was the government able to enhance government spending on rural development?
1. Through additional revenues due to tax reforms and growth of the economy

2. Through deficit financing

3. By matching outlays and income

4. By borrowing

Correct Answer :-

¢ Through additional revenues due to tax reforms and growth of the economy

6) Read the passage carefully and answer the question given below:

Sustained accelerated growth over the last five years or so, combined with major tax reforms, has resulted in a
miraculous augmentation of government revenues. Buoyant revenues have resulted in buoyant spending on the
social sector. In his address to the National Convention, the Prime Minister estimated the increased spending
on poverty alleviation and rural development, including the flagship Bharat Nirman programmes, at “four
times” the spending in the last year of the previous government: an exponential increase in nominal terms
from around Rs.34,000 crore in fiscal 2003-04 to about Rs.1,20,000 crore in the current financial year, over and
above the four-fold increase over the decade 1993-94 and 2003-04 from about Rs.7,600 crore to about
Rs.34,000 crore.

Why, then, is there such a mismatch between outlays and outcomes, between growth in the booming wealth
and income of the entrepreneurial classes in contrast to the halting, uncertain, sporadic and un-sustained
amelioration in the condition of the vast majority of Indians? Why is India prospering when most Indians are

not?

In the passage, the word amelioration means:
1. advancement
2. digression

3. impediment



4, deterioration

Correct Answer :-

e advancement

7) Read the passage carefully and answer the question given below:

Sustained accelerated growth over the last five years or so, combined with major tax reforms, has resulted in a
miraculous augmentation of government revenues. Buoyant revenues have resulted in buoyant spending on the
social sector. In his address to the National Convention, the Prime Minister estimated the increased spending
on poverty alleviation and rural development, including the flagship Bharat Nirman programmes, at “four
times” the spending in the last year of the previous government: an exponential increase in nominal terms
from around Rs.34,000 crore in fiscal 2003-04 to about Rs.1,20,000 crore in the current financial year, over and
above the four-fold increase over the decade 1993-94 and 2003-04 from about Rs.7,600 crore to about
Rs.34,000 crore.

Why, then, is there such a mismatch between outlays and outcomes, between growth in the booming wealth
and income of the entrepreneurial classes in contrast to the halting, uncertain, sporadic and un-sustained
amelioration in the condition of the vast majority of Indians? Why is India prospering when most Indians are
not?

In the passage, what is the paradox that the author is trying to address?
1. How are the rich benefiting?

2. The divide between the rich and poor

3. Where is the money going?

4. In spite of enhanced spending, why the vast majority is not being benefited compared to the wealthy?

Correct Answer :-

¢ In spite of enhanced spending, why the vast majority is not being benefited compared to the wealthy?

8) Read the passage carefully and answer the question given below:

Sustained accelerated growth over the last five years or so, combined with major tax reforms, has resulted in a
miraculous augmentation of government revenues. Buoyant revenues have resulted in buoyant spending on the
social sector. In his address to the National Convention, the Prime Minister estimated the increased spending
on poverty alleviation and rural development, including the flagship Bharat Nirman programmes, at “four
times” the spending in the last year of the previous government: an exponential increase in nominal terms
from around Rs.34,000 crore in fiscal 2003-04 to about Rs.1,20,000 crore in the current financial year, over and
above the four-fold increase over the decade 1993-94 and 2003-04 from about Rs.7,600 crore to about
Rs.34,000 crore.

Why, then, is there such a mismatch between outlays and outcomes, between growth in the booming wealth
and income of the entrepreneurial classes in contrast to the halting, uncertain, sporadic and un-sustained
amelioration in the condition of the vast majority of Indians? Why is India prospering when most Indians are
not?



What is the main idea of the passage?

1. Inclusive growth of the Indian economy
2. Bharat Nirman Programme

3. Government spending

4. Rural development that focuses on poverty reduction

Correct Answer :-

¢ Inclusive growth of the Indian economy

9) Read the sentence carefully and choose the option that has an error in it:

Only three-fourth of the work are complete.
1. No error

2. Only three-fourths

3. of the work

4. are complete.

Correct Answer :-

e are complete.

10) Fill in the blanks with the correct option in the given sentence:

In a joint state--, the educat-- and culture ministers announced that, from next year, schools
will receive more funding for art lessons.

1. --hood ... --ive

2. --liness ... --ing
3. --ments ... --ing
4. --ment ... -ion

Correct Answer :-

¢ —-ment... --ion

11) Fill in the blank with the correct option in the given sentence:

In geometry, if you divide a line into two equal parts, you --sect it.



1. bi --
2. tri--
3. viva --

4.di—-

Correct Answer :-

e bi--

12) Choose the appropriate tense to fill in the blanks in the given sentence :

He __ me his name, but 1 now.
1. told, have forgotten

2. told, have forget

3. tells, forgotten

4. tells, had forgot

Correct Answer :-

« told, have forgotten

13) Choose the correct option to complete the sentence.
He received disturbing news.

1. some

2. a little

3. few

4. little

Correct Answer :-

14) Choose the right tag:

Don't tell Maria, ?
1. are you

2. will you



3. don't you

4. do you

Correct Answer :-
» will you
15) Choose the option that substitutes the given phrase appropriately.

A child who attends a school for very young children

1. Home scholar
2. Day care
3. Kindergartner

4. Hosteller

Correct Answer :-

o Kindergartner

16) Change the given sentence into Indirect Speech:

Ann said to her sister, ‘We better hurry! The film begins in fifteen minutes.’
1. Ann tells her sister that they hurried as the film will begins in fifteen minutes

2. Ann said to her sister that they better hurry as the film begins in fifteen minutes.
3. Ann is telling her sister that they hurry as the film begins in fifteen minutes

4. Ann told her sister that they hurried as the film begins in fifteen minutes.

Correct Answer :-

» Ann said to her sister that they better hurry as the film begins in fifteen minutes.

17) Choose the right tag:

My relatives couldn't listen me, ?

1. can they
2. could they
3. could they not

4. did they

Correct Answer :-



¢ could they
18) Choose the appropriate prepositions for the given sentence:

Brasilia was the brainchild Brazil’s President Juscelino Kubitschek, who held office
1955 1950.

1.in..from ..tll
2.in...in..to
3. of ... from ... to

4. by ... between ... to

Correct Answer :-

19) Choose the appropriate antonym for the highlighted word in the given sentence.

Adolescents are immensely interested in online social networking.
1. extremely

2. essentially

3. richly

4. overly

Correct Answer :-

» essentially

20) Choose the appropriate conjunctions for the given sentence.
Italy _  France got to the quarter finals last year.

1. If ... then

2. No sooner ... than

3. What with ... and

4, Neither ... nor

Correct Answer :-

e Neither ... nor

21) Choose the appropriate option that rewrites the given sentence in its passive voice.



The workers have painted the main building.

1. The main building has been painted by the workers.
2. The main building is been painted by the workers.
3. Main building was been painted by the workers.

4. Main building has been painted by workers.

Correct Answer :-

« The main building has been painted by the workers.

22) Choose the appropriate tense to fill in the blank in the given sentence:
Mary to a new school next term.

1. going

2. has gone

3. is going

4. goes

Correct Answer :-
« is going

23) Choose the appropriate synonym for the highlighted word in the given sentence.

Commuters are worried about the increase in traffic on the highways.
1. Colleagues

2. Daily travellers

3. Guests

4. Communicators

Correct Answer :-

o Daily travellers

24) Choose appropriate articles for the given sentence:

Once __ preserve of ___elite, ___ mobile phone is now ubiquitous, as there are millions of subscribers.
1. no article required ... an ... a

2. no article required ... the ... a



3. the ... the ...the

4. the ... an ... the

Correct Answer :-

e the...the ..the

25) Choose appropriate article for the given sentence:
There was union set up at the place I work.

1. no article

2.a

3.an

4, the

Correct Answer :-

o the

26) Choose an appropriate modal for the given sentence:

You're in a hospital. You smoke.

1. couldn’t
2. needn’t
3. can

4, mustn’t

Correct Answer :-

27) Choose the correct option to fill in the blank in the given sentence:
She --------- a very remarkable discovery.

1. made

2. was made

3. has made

4. is made

Correct Answer :-



28) Choose the most suitable pronoun for the given sentence:
I can’t find my pencil. I’ve lost

1. her

2. them

3. 1its

4. it

Correct Answer :-

29) Choose the option that best explains the highlighted expression:

If only Kumar doesn't throw his weight around, we can easily complete the project in time.
1. worked less in a group

2. act bossy

3. increased his body weight

4. reduce his weight

Correct Answer :-

e act bossy

30) Which of the following options best combines the given sentences?

The refining of petroleum is complex. It is difficult to understand.

1. The refining of petroleum is too difficult and complex to understand.

2. The refining of petroleum is full of complexity and difficulty to understand.

3. The refining of petroleum is not only complex but also difficult to understand.

4. The refining of petroleum is so complex that it is difficult to understand.

Correct Answer :-

« The refining of petroleum is so complex that it is difficult to understand.

Topic:- General Urdu(L2GU)
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Topic:- Science (SCI)

1) Why are large poultry farms constructed? /
93 FFFe GRT H AT F=4 B S 82
1. To raise broilers for chicken meat in large numbers. /
Il 7 & U 38 d&ar & Ssor & grefa g
2. All the above facts . /
I @ T2
3. To develop very good hatchery for egg layers, in large numbers. /
IS HEAT H 33T & & [T dga TU &1 dhd el & o |
4. There is low maintenance requirement for developing poultry. /

Ferpedelsl & fahe & fov T TERa@ra 1 raegedr &4

Correct Answer :-

o All the above facts . /

3UFd AT a2z

2) If the ratio between Iron (Fe) and Sulphur (S) in Iron sulphide (FeS) is 7:4 by mass and the
total mass of it is 88 amu, what are the masses of Fe and S? /

IfE I FEBISS (FeS) A AR (Fe) 3R WewT (S) F T GeqdATT FT 3eyaTe
74%3ﬁ1mma—qﬂm88wwﬁrm(amu)%aﬂFesﬁTS$
SSgATT 41 2

1. Fe = 74amu & S = 14 amu



2.Fe =72amu & S =16 amu
3. Fe =56amu & S =32 amu

4. Fe = 50amu & S = 38 amu

Correct Answer :-

e Fe =56amu & S =32 amu

3) Written examination is a/an of evaluation. / ﬁ'@?{ qﬁ&ﬂ, W G| U
. {

1. implementation / TaTeadel
2. System / JOTTT

3. function /El'Tl'Cf

4. technique / REDIC

Correct Answer :-

* technique / REDIE

4) To have a productive and engaging science learning experience, for children
and adults alike, they can conduct small experiments with guided instructions,
like identifying rock specimens, watch insect metamorphosis, demonstrate

chemistry reactions, etc. This method involves? / a=ar 3R TIER & ﬁl’ﬂ',
& 3c9IeF 3R Fagy e wfe &7 e @R & faw, 3 e
fadert & arr B TN FT FATET F T 8, AW UF AT Y GG
HAT, T FRATEAIOT SET, [T AATFAHT 1 yefia w3, el s
Rfr & nfAe gar &2

1. Science Kits / Ta<1eT fohe

2. Research Laboratory Experiments/ﬁﬂ'\ﬂf‘?—ﬂ?—r TATRITT JAT
3. Observatories / JYRITATU

4. Peer-to-Peer Teaching / qeHHI-I-TgHH! R1&m

Correct Answer :-

. Science Kits / Ta3TeT Tohe

5) In the winter season, two thin blankets placed one over the other are better than a single
blanket of same thickness because: /



aféat & Al &, Q gad Faa TF qEY F IW W AW P, AfF 36 A a ww
dadl § e g § I

1. The air in between the two layers will absorb more heat energy from the atmosphere /

al WXl & I AT gaT agHSS § IS FSAT Foll I NI Hah|

2. The air in between the two layer acts as a conductor /

el 9T & oI ST §aT Ush Hdlgeh & ®9 H ST Hlal gl

3. The air in between the two layers acts as an insulator /

&l Wat & T $T gar v AHAES H FA Bl gl

4. Thick blanket absorbs more heat energy from our body /
AT FHadl AR RR T 3™ dT FoT Fr TS T &

Correct Answer :-

» The air in between the two layers acts as an insulator /

ar qdl & g i gar Ueh [qudige FT H1H ar gl

6) What happens when a body covers 2m in every one second along a circular path? /

IfE & e, Ja@R 9 W 93F dFs F 2 A i gft a7 Far g F4r g
8?

1. The body has non-uniform speed. / @& &1 arer IR-TATT &

2. The body has uniform velocity. / &I &T I THTATT gl

3. The motion is called non-uniform circular motion. / Ifa &I I-TATA JdThiY afa hgl
ST gl

4. The motion is called uniform circular motion. / 31T & THIATT ddTehi afa ohgl SITdl

gl

Correct Answer :-

« The motion is called uniform circular motion. / 3T &I THTATA ddTeh afa hgl SITdl

gl

7) The physical quantity which has the unit N/m? is: /

siifasw AT SEdY s N/m2ad 7
1. Force / sel

2. Density / Yelcd



3. Acceleration / ca3oT
4. Pressure / Gdld

Correct Answer :-

e Pressure /Gdld

8) Sign langue is developed for: /
Aihfas oo T F @ fFasd o sfaa i 1€
1. The mentally retarded children / ATARA® T H FHAIR STdi & [oT

2. The people with impaired hearing/a%')\'

3. The children with high 1Q / 3Td %?{jﬁ' 3T aTe dTdl & fov

4. The blind people / 378

Correct Answer :-

e The people with impaired hearing/agi'

9) lodine test is conducted for detecting: / TSI GN&TOT fRTFT IdT M & AT
frar e §:

1. Starch / T/
2. Sugar / IR

3. Protein / IGiC]
4. Glucose / ‘Ffﬁlﬁf

Correct Answer :-

« Starch/ ¥/

10) What are the two necessary conditions to be satisfied to say that work is done? /

Ig Fea & AU F F1F Fueet g TH 8, & aeTF ad F4 2

1. Initially the body should be at rest and there should be an expenditure of energy. /
ST 3 TN ) FASTETEEAT & @i Wik 3R Fof & ag @ Wy

2. There should be a force acting on the body and there should be a displacement in the
direction of the body. /

T W ga FRRA 8T Tifiee 3R T $r em & [Jraga gar arfiku|



3. There should be a displacement for the body and there should be an expenditure of energy. /

T &1 favuraa giar afige 3R F9T &1 sag gier argul

4, A force should act on the body and there should be an expenditure of energy. /

U g [T 9T HRIT 8T 1T 3R FaT &1 I g a1svl|

Correct Answer :-

« There should be a force acting on the body and there should be a displacement in the
direction of the body. /

T W ga FRRA g Tifge 3R e $r em & Jraga gar anfiRu|

11) An electrical device is rated 1000W. What is the amount of energy consumed by it in 5
hours? /

% fagga 3UFOr &1 FqediFa 1000w fFar Srar 81 5 =l F @ua i a Fer A
AT 4T gl

1.1.8x107)
2.1.8x10%)
3.1.8x10°)
4.1.8x10°)

Correct Answer :-

. 1.8x107

12) |n a lake, Maria swims 60m in half minute and returns to the starting point along the same
path in another half minute. Find her average speed and average velocity./

% e &, 7R amd Bee # 60 #Hey dvelt @ 3R e Y RAee & 3¢t ARt @
IRAF g W dle sl 31 3w sitaa afa ik sitwa 3o 79+

1.2m/s & 0 m/s / 2 Hiex/Ads 3R 0 Hicxy/Adbs
2.2m/s & 12 m/s / 2 Hicx/Ads 3R / 2 Hicx/Adbs
3.0m/s & 2m/s / 0 Hicy/AHS 3R 2 Hiex/Idhs
4.12m/s & 2 m/s / 12 Hicy/AdHs 3R 2 Hex/Adbs

Correct Answer :-

e 2m/s &0 m/s /2 Hiex/Abs 3R 0 Hiey/Adbs



13) The period of a pendulum at a place depends on the: /
frdlt Turer W T dgerr dr afr gw o ek we @
1. Mass and length of the pendulum /

GSeld T gegA 3R wars

2. Mass and acceleration due to gravity at that place /

3 T G I&calhyul & HROT GedAE 3R ol

3. Length of the pendulum and acceleration due to gravity at that place /
I WM R ATHY & HRU YA 3R @R Pt ey

4. Length of the pendulum and shape of the bob /
g 1 daré SR ST B e

Correct Answer :-

« Length of the pendulum and acceleration due to gravity at that place /

I WY W [AIHYU & HRUT U 3R R0T B GaTS

14) Which of the following is not an example for the potential energy? /

fefaf@a & ¥ Fa1 ufas Fa7 &1 vF 3eEIor 748 &2

1. Energy possessed by a body inside a flying air craft. / Teh 35d 6dlé T8l & 3T Th
fepr T garT g S|

2. Energy possessed by a body placed at a height. / Teh > ﬂlg R W A CaRT 9rcd
Sl

3. Energy possessed by a compressed spring. / Tdh RS HAAT CdRT 9Ted FotT|

4. Energy possessed by a person lying on the ground. / STHIT WX oic g‘ﬂ' Teh Tfadd FCIRY
gred S|

Correct Answer :-

« Energy possessed by a person lying on the ground. / ST&HIeT T oic §'Q' Ush cgiad FCIRY
gred Sl

15) In which of the following media, the speed of sound is maximum? /

ffafaa & ¥ Fa #Aregw A, eafay Y afq 3VFaq adh
1. Water / STl

2. Aluminium / U@mﬁw



3. Air / 9T
9
4. Oxygen / 3iardiateT

Correct Answer :-

« Aluminium / TogHTaIH
S

16) Muddy water can be purified by /

ufher ST Y 3T AN Yy fHAT ST FFaT
1. Loading / eIcTeT

2. Threshing / #A3TS

3. Sieving / dTelel

4. Winnowing / 31T&l=AT

Correct Answer :-

 Loading / efcTel

17) In the case of semiconductors, as the temperature increases, the resistivity . /
rhaTes & A H®, AW-oRY A ggar g, yfadysar | |

1. increases / S&dl ¢

2. decreases /| &H BIdT §

3. becomes zero / [T HRSIGIN

4. remains constant / &R T@dr &

Correct Answer :-

o decreases / & BT &

18) Select the correct statement from the following: /
farafaf@a & & ¥ FUT 1 TI7T F

1. Unlike charges attract / a9 313 T R £
2. Unlike charges repel / Taqdia 3maer gfasid a=d g1
3. Like charges attract / T 371G 3THNT X &l



4. Charges on a body cannot be discharged / Teh ard W 39TEUd 3TaLT a7 AdgeT gl
forar S Hehelr &

Correct Answer :-

« Unlike charges attract / T3 39T 3T X &1

19) A screw gauge with nil zero correction gives the following reading when used to
measure the diameter of a wire. Pitch scale reading = 0 mm and head scale reading = 52
divisions. Given that Imm on main scale corresponds to 100 divisions of the head scale. The
diameter of wire from the above data is: /

AT PUR FT UF &F A TF dR & A H AA & AT 3930 & aF I «|
fafaf@a 8o &ar &1 R as {fFT = 0 A= 3k g3 A9w HfFT = 52 @3
foar 7 § & AET Aw w1 1 @, ¥ A9 & 100 WS F e § I e
¥ dR &1 A9 ¢

1.0.0052 cm / 0.0052 &Y
2.0.052 cm / 0.052 QT
3.0.26 cm / 0.26 T&HT
4.0.52cm / 0.52 @Y

Correct Answer :-

« 0.052cm / 0.052 QY

20) Find the thrust acting on a surface of .08m? if the pressure is 250Pa. /
IfE gard 250Pa§ @ .08m2 Y Ha§ W FRT Yol N AT H

1. 200N

2.31.25N

3.3125N

4. 20N

Correct Answer :-

« 20N

21) Identify the acid present in red ants? /

drer difedt & 3ufPyda e 1 ggae FI?



1. Malic acid. / Helgedh 3Fdl

2. Oxalic acid. / 3Tepdford &
3. Tannic acid. / ¢ 31Far

4. Formic acid. / WIHe 31

Correct Answer :-

« Formic acid. / BIfHe& 31Fd

22) Identify the reaction/s in which physical state of a substance does not change during a
chemical change. /

37 FATRAT A ggaE, Gud Fd gaafae aRade & o ) geret i sifaw
Rufa st sgadr 8

1. All of these / 3uercd &8l

2. Water is subjected to electrolysis to form hydrogen and oxygen /

gIgsiole 3R 3iTeeisled die & oI urelt @ fdegd-3rdees fham Sirar &

3. Mercuric oxide is heated strongly to from mercury metal and oxygen /

URT 4T AR Hrdiolel Seilel & [T #RagReh 3NFAISs &l Yeoral & a8 fomar
ST &

4. Magnesium ribbon is burnt in air to form magnesium oxide /

HIATATH 3FASS §oll & fav HAeAfgeT ReaT &1 gar H AT AT &

Correct Answer :-

« Magnesium ribbon is burnt in air to form magnesium oxide /

HTANRATH 3iFass 0 & v AeARad Rea & gar & o Jar &

23) The effect of milk of magnesia on turmeric solution is: /
geal & "l W ATAAAT & qur F7 worE I Fem &
1. Yellow colour of turmeric solution first changes to pink then becomes colourless /
drer &1 &7 gedr F °ie I Aear &7 7 TGl SNl §, dcaRd EIewe @l Sl gl
2. Yellow colour of turmeric solution changes to blue colour /

drel 39T FT godl T 81 Aol WM H g€l AT gl

3. Yellow colour of turmeric solution changes to reddish brown colour /



dier &7 T gedl 1 blel X T # dGel STl &l
4. No effect /

PIs YHId Tal |

Correct Answer :-

« Yellow colour of turmeric solution changes to reddish brown colour /

Ao T T godl 1 Gl X W A dgel ATl &

24) The frequency of vibration of a string is 100 Hz. Then its period of vibration is: /
T R & S F AIGRY 100 g6 1 A ST Fr Ay §:

1.0.1s /0.1 §FS

2.0.01s/0.01 93

3.10s/ 10 Gehs

4.100s / 100 ¥ehs

Correct Answer :-

« 0.01s/0.01 O

25) The trophic level of secondary carnivores is /
et ATATERY T 99T T 7

1. Third / dTERT

2. Second / gAXT

3. Fourth / =T

4. Fifth / grerar

Correct Answer :-

« Fourth /3ar

26) The pressure excreted by the liquid at the bottom of a vessel depends on : /
TH g & ad I ael GaRT AT AT g9 36 W AR &ar §:

1. Total area of the base of the vessel / SdeT & dol T SW S ELT



2. Height of the liquid column present in the vessel / Idd H 39RYd R TIH P 3TadA
el

3. Inner surface area of the vessel containing liquid / Yl g ScleT &7 ATARS I3 SE]

4. Shape of the vessel / Sclel T 3THR|

Correct Answer :-

« Height of the liquid column present in the vessel / ScdieT & 3URYT el TAH T STIdH
el

27) Neutral compound/compounds among the following: /
e & e i / el fY ggEe e

(i) CO, (ii) CO (iii) H>O (iv) CaO

1. (i) and (ii) / (i) 3R (i)

2. (ii) and (iii) / (ii) 3R (i)

3. (ii) only / shdel (ii)

4. (i), (ii) and (iv) / (i), (ii) 3R (iv)

Correct Answer :-

. (i) and (iii) / (i) 3 (i)

28) Four identical vessels painted with four different colors are filled with water at 90°C.
Which of the vessel will have the least rate of cooling? /

wmmwmtﬁ#iﬁg%aﬁtwmm%wﬁ#mgﬁ
gl e = & ofige g i ¥ Aeaw geil?

1. Vessel painted with red / elTel 7/ B §3-1T g
2. Vessel painted with green /¥ T & WM §3—1T CIE)
3. Vessel painted with black / @Tel 9T & @ §3-1T q
4. Vessel painted with white / T%he T & & §3—1T a3

Correct Answer :-

« Vessel painted with white / T%he, 9T & M §3-1T a3

29) Which among the following is a monobasic acid? /



farfaf@a & ¥ «=r & AT va
1. CoLH40,

2. H,CO;

3. H3POy,

4. H3PO4

Correct Answer :-

30) Which one of the following is not an alloy of Iron? /
famafaf@a & & 71 dle #1 v g 7@ @2

1. Solder. / @esT

2. Stainless steel. / ToTold TeTdl

3. Alnico. / UfeeTar

4. Nichrome. / foshl#T

Correct Answer :-

» Solder. / "les

31) Which of the statements about non biodegradable wastes is correct?

i. They are commonly man made.
ii. They can be degraded by micro organisms.

iii. The soluble non bio degradable wastes enter food chains and cause bio magnification.
iv. They do not accumulate in nature. /

IotafAEHIONT 39 & IR & Fia  Fa9 T 2

I AT AT @AfdaT @ &

i. ¥ gaA el garr faiiga Y s awa 8

iii forr sretafarfiecolia sraflse @ s/@ar & A Fd § 3R A9 3rade wa
gl

iv.aqﬂjﬁ'ﬁﬁﬁﬁﬂﬁml

1.7 and iii /i 3R iii

2.iandii /i 3R ii

3.jiii and iv / i 3R iv

4. ii and iv / i 3R iv



Correct Answer :-
. iandiii /i 3 iii

32) Which of the following elements show malleability? /
el & & Fla-ar ac@ sraaadHar R 82
1. Phosphorous / HIEHRY

2. Todine / 3TAEET

3. Sulphur / He®

4. Zinc | &S

Correct Answer :-

e Zinc /| S+

33) World Environment Day is celebrated on? / faRa qaTaRor eaq &«
HATT AT 82

1. May 5 /5 #AS

2.June 5 /5 oot

3. September 15 / 15 fAdsX
4. April 27 / 27 3T

Correct Answer :-

« June 5 /5 Sfel

34) Which physical property of Aluminium metal makes it possible for us to
make Aluminium foils to wrap chocolates, toffees and medicinal tablets? /

vegfafaas g & frw ifae qonent & FRoT g sEET w@T AfEde, ey sk
sty Mt & wegfAfaas ol amRer & alt WA e {2

1. Malleability. / 3mardagieigdr

2. Good electrical conduction. / faegd Fr FTelshcr

3. Good thermal conduction. / FSAT $r gATershd



4. Ductility. / degdr

Correct Answer :-

. Malleability. / 3ardaseigdr

35) Which of the following statements represents the science manipulative

skillsofastudent?/m?l'ﬁ'#mmwwm*m*
YerdaIa Hlerer (Adqafes Fwa) &1 yfafafdea war &2

1. The student can differentiate between two related concepts. / ST & TaTdd
ITUROMN & ST 3¥dT HT ohdT gl

2. The student can design a new experiment. / ST Teh AT AT 38T X
ETINY

3. The student respects his/her science teachers. / ST 3791 TaaAeT forgThi T
GFATT HT gl

4. The student uses the equipment in the lab within their limitations. / ST 301 THTSIT
T YgHR YN B ISR BT SUTRT ST 5

Correct Answer :-

. The student uses the equipment in the lab within their limitations. / B 30T AHTSA
T YgHR YN B SUSRUT BT SUTRT HRT g

36) Qut of the following options, choose the incorrect statement? / fe=Tfaf@d
fawedl & @, AT FIT FT TIT FRO

1. Inductive method of teaching is a constructivist model of teaching. / freqoT Hr
3T T3, fALTUT &7 T TATcHS HAISA gl

2. Inductive method of teaching is more student-oriented. / T80T &1 ETHT
fafer 3iftes oE-37q Bl

3. Discovery learning theory promotes autonomy in learner. / 3ed¥0T 378137
fcurd, AfReHESRAT #A FaIadr # dgrar &ar gl

4, Deductive method of teaching progresses from a specific concept to the general. /

freyor r FerHT (A, e [AfASe ITUROT & AT AT 3T Fear 2

Correct Answer :-



« Deductive method of teaching progresses from a specific concept to the general. /

freyor fr oA /A, Ter [AfASe ITUROT I AT AT 3T Fear 2

37) Write the given four colours in the ascending order of their wave length?
Yellow, Red, Green And Violet /

T 7T TR @i A 3T G F IAR IR FH F

1. Violet, Green, Yellow, Red / Si9Ts1T, &1, Yo, olTel

2. Yellow, Red, Violet, Green / GIdIT, &TeT, SaTaT, g

3. Green, Yellow, Red, Violet / 83T, 9IdIT, oITl, SaTaiT

4. Violet , Yellow, Red, Green / ST, diel, @rd, 81

Correct Answer :-

« Violet, Green, Yellow, Red / S3TiT, 83T, 9TelT, oTel

38) The SI unit of power of a lens is: /
TH o T afFd A vH.IE. FHE ¢

1. Watt / dIc

2. Dioptre / ST

3. Joule/second /Gj\?l’/@?iw_‘:‘?

4, JouIe/GI(\?»r

Correct Answer :-

« Dioptre / ST

39) What are the food requirements of dairy animals? / 338 T3t & sisrer
TIIHATT FIT §?

1. Mixed feed containing dry grass, grams and other roughages. /
@l 119, 9o 3R 3T Al IR @ "@FAfad e sl
2. Nutritious feed with additives. /

Jistent & AT #H difses dsd|

3. Fresh green grass. /



arem gl g |

4. The feed should include roughages and concentrates in balanced amounts. /
e # AT TIRT 3URYA gl =gy AR Efeld &A= # g gler wifg|

Correct Answer :-

« The feed should include roughages and concentrates in balanced amounts. /

HIsT & AT IRT 3URYA ger AT AR Tcffold AET H Hig gl Mgy

40) The intensity of the sound is related to:/
tafy o o 399 Hafid &:

1. Amplitude / TITH

2. Frequency / Hﬁ(:ﬁl’

3. Pitch / 0=

4. Wavelength / a3aT A

Correct Answer :-

o Amplitude / TITH

41) For which liquid/fluid in the body are the below mentioned features applicable?
« Cellular processes take place in this medium.

« Substances are transported from one part of the body to another in the dissolved form.
R A e ga/aa vard & R R Sfeafa fAdivars ang i 82

. 39 9TH § HIRG uihang gt 1

. gerd #i faaia ¥u d IRR & U /T I gu¥ HRT | Ugaran St 3|

1. Blood / Y

2. Water / 51

3. Sugar solution / T &1 9id

4, Salt solution / TJUT BT Ui

Correct Answer :-

o Water / SId



Rishi is open-minded but believes every theory put forward to him by his friends but
rejects theories of his teachers. This primarily shows a lack of: / EAL gﬁ-ﬁ?ﬂﬁ CLSL %
AfP 98 ITS Il GRT TP T IQ@ & Rigia &1 7« § afdp srua el &
Rrgidl @ SRAIPR HIAT 81 T8 T FUq o B B! gTaT B

1. Respect for evidence / GT&T & foT gFA=T
2. Scepticism / Tdie

3. Prejudice / q‘f:ﬁ?,'l'e-'
4. Objectivity / fersaaydr
Correct Answer :-

. Objectivity / TrsT&Tar

43) The commonly found fish thatis a surface feeder is /

T ¥ | UTS 9 arell ASe Sifd Th Y8 YURS (ThY Bis) &
1. Catla. / shddell

2. Mrigals. / #aTell

3. Rohu. / flﬁ

4, Common carp. / IHI BT

Correct Answer :-

o Catla. / Shddll

44) The electrical device used to measure the current through an electric circuit is: /

faggq ity & areaw A fagyq @1 wa= & fiIe I o @ S+ aren fagyga SusRr gt &:
1. Voltmeter / dlecHIeX

2. Electroscope / faegdeeft

3. Ammeter / 3THIEX

4. Galvanometer / IedallHIC

Correct Answer :-

« Ammeter / 3TTHIET



The electronic configuration of an element is 2,8,1. The number of electrons that possess
the least energy /

it 9 &1 sAaei-e faarT 2,8,1 81 TH gaiae il @t = ford <gAad Sl gidl 3:
1.2

2.0
3.1

4.8

Correct Answer :-

46) Which of the following method will be ideal for laboratory work in a class of 50

students? / fAafafaa & @ #19 A fAfy 50 o= Treh T Fem A yarrme & 1 &
forg smext grft?

1. All of the students work on the same equipment at the same time. / gt B TP B
Y R T Bl IUH W H Fd g

2. Students are divided into groups and different experiments are performed by each
batch in a cyclic manner. / B &1 Iqg! § faHTToId fosan ST 8 $iR vd® 99 gRT U&
I T ¥ fafte v fbe o B

3. Students are divided into groups and the same experiment is performed by each

%atch./Maﬁﬂﬂﬁﬁﬁwmm%aﬁvwaﬂmwﬁwmw
|

4, Only teacher demonstrates the experiment in front of the whole class. / PHad e gt
T8 & & A TN TERid SRl B

Correct Answer :-

- Students are divided into groups and different experiments are performed by each
batch in a cyclic manner. / BT &I gl # faHTiord foran ST § SR Ud® oF gRI Uk
T N I i g fe oird €|

47) Identify an atom with no neutrons from the following. /
frafafed # 9 YT T R & uga $:|

1. Helium / gifeaas

2. Tritium / efeas

3. Protium / 9&TH

4, Lithium / faas



Correct Answer :-

« Protium / wi&=mH

48) A small fire in the laboratory due to sodium can be put out by: / Tqifsan &
PR TH YARTRITAT § T aTell TP D! Al 31T B 39 GIRT THAT o IHdl 3¢

1. Using water / 9Teil & SdRT
2. Using dry sand / R[S Id & ¢drT
3. Using moist soil / 3fTell fTATET & garT

4. Using CO, based extinguisher / CO, 3MHTRT AMHEG & ITANT gRI

Correct Answer :-

- Using dry sand / S Id & CART

49) Collaborative learning approach develops which of the following skills in a

learner? / gaRTI® SRATH Tid@or @ Rremdf & Frufefaa # A fea s o1
A gl 82

1. Social and Academic skills / @ISR 3R Ae70IF Hierer
2. Critical thinking skills / 3TgT ficeT alerer

3. Relationship among concepts / 3ITURUMAT o ST Y

4. Interpretational skills / SITEATcHD LTl

Correct Answer :-

. Social and Academic skills / AT 3 MeIf0er pierer

50) Identify the human practice that results in soil pollution. /
¥ A frarEeT fSad aRomATEET 7T YGuT BT @, 3 ggErT #
1. Deforestation / T |

2. Dumping of sewage into water bodies / SIdd el | 7a Sta|
3. Use of large amounts of fertilizers and pesticides / S8 AT H IdRb! 3R DHIeATRID! BT IGINT|
4. Vehicular traffic / HicR UeyUI|

Correct Answer :-



« Use of large amounts of fertilizers and pesticides / ! AT H Iaab! 3R BIeATId] BT IUTNTI

51) Name the animal or product which does not provide vitamin D. /
39 9 AT 391G FT A qa o @ § g 78 F:ar g
1. Fish / #ASell|

2. Eggs | 33|

3. Pork / g3R I AH|

4. Cow’s milk / 3T T E‘{\UI

Correct Answer :-
o Pork / 11'3-1? T AT

52) A student is able to fix a focal length measuring apparatus despite

notreading about it as a problem on his laboratory manual. This shows the

useof which dimension of the cognitive process? / Tdh BT UTh Bied HﬂT‘&"

YA & IUHVI BI S1h B3 H & € Tafb 391 TAIIRITAT A3 TR TH JHT

gwﬁmaﬁﬁqﬁml g AT Ufspar & {5 A & IuaiT &) g=itdr
?

1. Knowledge / <TeT
2. Applying / HW

3. Evaluating / d-lc\vélicho-l el

4. Creating / [ HTOT e

Correct Answer :-

« Applying / HW

53) Which of the following statements does NOT distinguish hypothesesfrom

theories in science? / FHfef@ad A A 19 I1 HYA, fag@ & Rigial @ uReeaamai
P AT FE] BT 8?2

1. Hypotheses usually are relatively narrow in scope; theories broad explanatory
power. / GR&FCIATT IHMHAN T SRR H 37U&Tehd HehioT glell &; Aeerd
H U9 SATCATcHS UTad gidr ¢

2. Hypotheses and theories are essentially the same thing. / gR&eTaATT 3R
R Hfad &7 & v & A 2




3. Hypotheses are guesses; theories are widely accepted ‘correct” answers./
UReeTATY AT §; et =ave &7 & Fér 3o TR 6w o
el

4. Theories are hypotheses that have been proved. / i?lafdllo-a d gR&eIATe g
St faew & I &

Correct Answer :-

« Hypotheses and theories are essentially the same thing. / IR&eeuTy 3R
fqura ey ®9 & v € 9 8

54) Which of the following can provide a non-formal learning experience
tostudents? / fRuffRd A ¥ F9 o & WR-Nu=nie AR T USH F
&l 8?2

1. Summer holiday written assignments / AT Fr 32 E\iEZI’I H f&ar e arer
fofaa aaecere

2. Multiple choice question based test in class / &l H agﬁao—«mw 9T
TR 9_yeT

3. Science clubs / fa3TeT Fole
4, Conducting experiments in the laboratory / ORI H TN &1 Jara

Correct Answer :-

. Science clubs / fT&3ATT Ford

55) ¢Child-centred’ pedagogy means: / ‘STel-shfegd’ fATRMET 1 37 &

1. Teacher dictating the children what should be done / f1&T& s=dl &I 3T &
¢ T o1 fomar Sirerr =nfee|

2. The teacher leading the learning in the classroom / fI8Teh Fem & 3f&H &
37arofy s{fReT T g

3. Children are active participants in their own education and development / d<d

39er et 3R e & afpy aeiiedy @aa &

4. Children follow a prescribed information / §=d Teh fAeNRd SATARIT T
aTeled X g

Correct Answer :-



. Children are active participants in their own education and development / T3

39er et 3R e & iy aeiiedy @aa &

56) Burning sensation in stomachisdueto__ ./9€ & Solel T ROT &
1. Indigestion / 3197

2. thirst / TIH

3. digestion / 9Tdel

4. Hunger / 319

Correct Answer :-
« Indigestion / 3191

57) What is the natural habitat of Cactus?/
FFew F1 TFfas Iaw ¥4 §?

1. desert / YRTEATT

2. clayey land /a_ﬁ?r Sﬂﬁ

3. Water / Slel

4, Land / aqﬁr

Correct Answer :-

o desert / YRIEATT

58) Which of the following statements does not follow the scientific method? /

farfaf@a # @ sla a1 Fya dfas vgufa F1 g&a a8 Far &2

1. Da Vinci’s art should be costlier than Michelangelo’s art. / &T Ta=it &hr el

HIShUScll FT Fhell T HAGIT gl AT

2. The heliocentric model should replace the geocentric model of the solar system. /
T Fearw ey @feraafegs Alse) &1 @ 9ol & q-Alsd HI
gfaediid & anfgul

3. Einstein’s theory of relativity triumphs over Newton’s theory of gravitation. /

IMSES & QT & AU, wgeaT & TRocdlhyor & etnd W
o grea & g



4. Photosynthesis produces more oxygen than respiration. / JenTel HLeVUT, QT
T 318k ST T 3culgd ST gl

Correct Answer :-

. Da Vinci’s art should be costlier than Michelangelo’s art. / & fa<iy &hr el

HAISheIUSel I Fhell A FAGIN gl AR

59) Identify the substance which can be easily compressed by applying pressure on it. /
qaTd STEY WAl @ FFfEd R I ¥Ee A gard A g
1. Ice. /| 9%

2. Carbon dioxide gas. / FIeeT SIS3TFATSS T
3. Sugar crystals. / T foheee

4. Water. / STel

Correct Answer :-

« Carbon dioxide gas. / FIed SBIHTFASS AT

60) Which of the following is not an example of ICT resources? / FHTCIRAd A P
SIS AT BT TP IS8T A8l 82

1. Social networking website / TTHTToTeh Seafehdl C\IGN-IIsC

2. Science blog / TAFATT SeTaT
3. Science magazine / TaaiTeT TfAhT
4. Podcast / GTSehIEE

Correct Answer :-

« Science magazine / [ aTel 9T



